GC sinu
Products Contents B=A-1=F:

DR EHMENRE | 210~032

|AMGC ISOEFIHEEHRAL | 032~063

JIGC B BREERAH | 220~063

269



JFC

GCEEFRIEI

DR £ i 5 /1 il

RN RESRBENL  REERE
EEESR
BRI SRR R

BHRE EHES

o HEEHILA
o HEERLLE K EMNBES
o B EIERIEE
V—3 N
B EL 41
R ELNTE (mm) 10 16 20 25 32
fERmEE BEEBHETR (FBEM/1SO-VG32)
T1ERE A (kgffem?) 0.5~9
TERE O 0~+60
HEIRE (mm/s) 50 ~700
EEOE M5x0.8 RC1/8

Bkg(2FT)
=4 [B% o
e | B | 8 | 1 THEE A (Kgflem® )
(mm) | (mm) | 75 [a] cm)| 3 4 5 6 7 8
0| 6 # | 08| 24|31[39|47|55]|6.3
f |05|15| 2 |[25] 3 | 35| 4
i | 2 | 6 10 | 12 | 14 | 16
16 | 8 ;E 8
1 |15 45| 6 | 75| 9 [105]| 12
# | 31|93 [12.4[155(18.6(21.7(24.8
20 | 10 :
fi | 24| 72| 96| 12 [14.4]16.8|19.2
25 | 12 # | 42 |126(16.8| 21 |25.2(29.4(33.6
fi | 3.8 |11.4|14.4| 19 |22.8|26.6|30.4
i 24 | 32 | 40 | 48 | 56 | 64
32 | 16 ‘
fi1 18 | 24 | 30 | 36 | 42 | 48

270




JFC GCEIERET

NEI B EE S AR

® DR-BU B B#h & ® DR-BA 43 TE#h&

by &&w A 4

1
*%@?
S
é?g\

— —

\
\
p 777777777777777777777
1
\

I S
e
ﬁ |
|
|
|
|
E |
cesl
\\

TR

e
.
@

1 J L
T ‘ ‘ i

EEE Rl

\ \

B st
ik EHZTE e EkH EHZTE e ek 4 EHZTE e
O T 44 2 B B 2 a3 C BN 4
@ EATI 1 T 2 a4 EEHE 2
©) B E AR 1 B #E(B) 2 45 BEHA 2
@ IR 2 ©) fgs 1 B EORIE 4
(5 BER 1 EEBE 2 a7 BB EHE 2
® EIIB 44 1 @) EOE 2
@ A Figig 1 42 % = 2

271



JFC GCEIRRET

Big(A%R)
e e 10 | 20 30 40 50 75 100 | 125 | 150
10 DR-BU 160 180 200 220 240 290 — — —
DR-BA 170 180 200 220 240 290 — — —
16 DR-BU 240 260 280 300 330 410 490 570 650
DR-BA 260 280 300 320 350 430 510 590 670
20 DR-BU 410 450 490 520 560 650 740 830 920
DR-BA 440 470 510 540 580 670 760 850 940
25 DR-BU 620 670 730 780 840 980 1110 1250 1400
DR-BA 640 690 750 800 860 1000 1130 1270 1420
32 DR-BU 1160 1240 1330 1410 1500 1720 1940 2160 2380
DR-BA 1180 1260 1350 1430 1520 1740 1960 2180 2400
BfrI: mm
7%
TS 10 20 30 40 50 60 70 75 80 90 100 | 125 | 150
DR-BU ° ° ° ° ° ° ° ° ° ° ° — —
10 DR-BA ° ° ° ° ° ° ° ° ° ° ° _ _
DR-BU ° ° ° ° ° ° ° ° ° ° ° ° °
16 DR-BA ° ° ° ° ° ° ° ° ° ° ° ° °
DR-BU ° ° ° ° ° ° ° ° ° ° ° ° °
20 DR-BA ° ° ° ° ° ° ° ° ° ° ° ° °
DR-BU ° ° ° ° ° ° ° ° ° ° ° ° °
25 DR-BA ° ° ° ° ° ° ° ° ° ° ° ° °
DR-BU ° ° ° ° ° ° ° ° ° ° ° ° °
32 DR-BA ° ° ° ° ° ° ° ° ° ° ° ° °
= = p—
DATHE
DR BU - 32 [ 50ST [ Txn
l l l l l
RELZ5 RIS AE 7% R ERREE
[ [ [ [ [
- BU: (5 38 8 7K 10:10mm = A% JFS04
E 16:16mm % ngtﬁ%ﬁk 28
e BA: 4R #& | [20:20mm '.5:2 CE % B H)
H 25:25mm ?;,é P:PNP,3{% i 42,
] 32:32mm # 1ZE IR R2K
I é N:NPN, 3{6 i 4%,
BAEJR2K
n:¥E
i o R SR
HERER A

272



JFC GCEIRRET

BU: BiE## BA: &Rt

L1
yEL
&
¥

I3 JFS-04
&
!
A

SN ER R~ [E

® Hi&: 210,216

2Z+i7#

_E_‘T F N J KT SS+{T#2
= | j i 73 \@}_"V

©r P1Z @;

| oo +-—+HH-———)———— —— < a
o THE= 7
=0y of oy
Lo | BT R z -

B

R uu Y ﬁ
[ T T \
Y I I I Y &~ G N7 A 0% - T
g m i g
w/
naZH AlB|Cc|D|E F G|H|I1|[J|K|L M N

10 46 | 17 | 44 | 15 |7.5]|2-M4x0.7| 35 |20 | 4 | 8 | 9 | 20 | 2-3.4THR@6.5x3.3DP |4-M3x0.5x5L
16 58 | 20 | 56 | 18 | 9 [2-M5x0.8| 45| 25| 5 | 10 | 9 | 30 | 2-4.3THR@8x4.5DP  |4-M4x0.7x6L

wna % NN| 00 | P [@a| R |RR|SS|TT| U uu v w

10 26 | M4x0.7 |385/8.5| 32 |85 55| 4 | 8 |4-M5x0.8x5L [4-M3x0.5x4.5 |2-M4x0.7x7DP
16 28 | M4x0.7 | 49 | 10 | 37 | 10 | 60 | 5.5| 9 |4-M5x0.8x5L [4-M4x0.7x5DP|2-M5x0.8x8DP

R Z )

10-20ST:30
10 30-50S8T:40 72
75S8T:50
10-20ST:25
30-50ST:35
75S8T:45
100ST:55

16 79

273



JFC GCERRIL

® H1¥:.020,025,032

ZZ+177%

SS+572
N E E J K T2

T

L

QQ

W?WEE%’E AlB|lc|D|lE| F |e|H|1|J]|K]|L M N
20 | 64| 25| 62 | 23 |11.5[2-M5x0.8|50 | 28 | 6 | 12 | 12 | 30 | 2-04.3THR@8x4.5DP | 4-M4x0.7x6L
25 | 8030|7828 14 [2-M6x1.0[60 | 36 | 6 | 12 | 12 | 30 | 2-96.9THR@11x6.5DP |4-M5x0.8x8L
32 | 98|38 96| 36| 18 [2-M6x1.0/ 75 | 44 | 8 | 16 | 14 | 30 | 2-96.9THR@11x6.5DP |4-M5x0.8x8L
N T NN| 00 | P|Q|Qa|R |RR|SS| T |TT| U uu v

20 210 | M6x1.0 54 |7.75]125| 45 |[125]| 70 | 95 | 65| 9 | 4-M5x0.8x5L | 8-M4x0.7x6DP
25 212 | M6x1.0 65 | 85| 15 | 46 |15 72 | 13 9 11 | 4-RC1/8x7DP | 8-M5x0.8x8DP
32 216 | M8x1.25 | 76 9 19 | 56 |19 82 | 20 | 11 11 | 4-RC1/8x7DP | 8-M5x0.8x7DP

N w z zz | o
10-20ST:30
20 | 2-M5x0.8x8DP 30-905T:40 94 8

THoXE.OX 75-100ST:60

125-150ST:80

10-20ST:30
30-50ST:40
25 2-M8x1.25x12DP 75-100ST:60 96 10

125-150ST:80
10-20ST:40

32 | 2-M8x1.25x12DP | 30-50ST:50 112 | 14
75-100ST:70

125-150ST:100

274



JFC GCEIRRET

AMGC ISOEFIHR S TR R il

® |SO-15552 ﬂ%xif@iﬁiﬁir%ﬁﬁl(AM) , &L
HEVSRE & 542 RIS & SR A S AT

o SRELTIEA X PRI
* FENEREINME , FAIEREE

o EEERAEE , A ERZHES,
ENEES

o MIFEERR | =HAS
= B
R, L F5F 1%
REL N TE (mm) 32. 40. 50. 63
EHRE BEEGET R (FEEH/1SO-VG32)
T1ERE 11 (kgf/cm?) 0.5~9
T{ERE (O 0~+60
EEIEE (mm/s) 50 ~750
A
Bam i N13R
B {tkg(AF)
oviE | mE | em | SR TFED (Kgflem® )
(mm) | (mm) | 75 &) (Cm‘i 3 | 4 5 6 7
# | 8 | 24 | 32 | 40 | 48 | 56
32 12
fr | 6.9 |20.7|27.6|34.5|41.4|48.3
# |12.6|37.8/50.4| 63 |75.6| 88.2
40 16
#I | 10.6|31.8|42.4| 53 |63.6|74.2
¥ | 19.6|58.8|78.4| 98 [117.6/137.2
50 | 20 _
AI | 16.5|49.5| 66 |82.5| 99 |[115.5
# | 31.2]93.6(124.8/ 156 [187.2/217.4
63 20 .
A | 28 | 84 | 112 | 140 | 168 | 196

275



JFC GCEIRRET

NEBEHETH RS

2o THAE | BE | 2% EUHATE yE | 2% EUHATE HE
©) 0> 1 ) | sFEomBE 1 21 | Bk 1
@ 4 i 1 12 | BE#EA 1 @ | mg= 1
3 MEHE 1 139 | EEmEs 1 2y | w2 2
@ K S04 1 BEE 1 HEY 1
® CE 1 (15 | % 1 5 | HEE® %82 4 4
® BEHE 2 &R TR 1 # Bl 4 1
@ B EORE 2 17 | BEHTEG 8 @7 | mimEEgs 2
o 1 BEIRMORIE | 2 JEEHR I $E 48 4% 4
© B 5 2 1 B 2
EEHE 1 BRBE 2

276



JFC GCEIRRET

Pk on 12 21T 1

g e 25 50 75 | 100 | 125 | 150 | 200 | 250 | 300 | 400 | 500 | 600 | 700 | 800 | 900 |1000
32 ° ° ° ° ° ° ° ° ° ° ° ° ° ° ° °
40 ° ° ° ° ° ° ° ° ° ° ° ° ° ° ° °
50 ° ° ° ° ° ° ° ° ° ° ° ° ° ° ° °
63 ° ° ° ° ° ° ° ° ° ° ° ° ° ° ° °
== —

B &l B3R

AMGC BU — 63 | 200ST Txn
l l l l l
=AY i % T8 4F RS 718 K FE R R
\ \ \ \ \
ISO BUE}TQ%HN?( 32:32mm - ;ﬁ.mJFSO']
5 40:40mm 2 T21:—;E§§k = M
] z
&1 50:50mm B GE:FRAHE
H 63:63mm = P:PNP,31& H 45,
i) Il .
== # EEHZRE2K
354 17
>z =1
= 2 N:NPN, 31 i 42,
e EEHZRE2K
F n: g2
il E - 5% SRR T
HEER A

BU: Bi&

5 JFS-01

277



JFC

SNER R~ B

GCEERIEI

278

BB TG
TG SW1 ~ SW2 AL L7+(T 2
PwY g
&= & &
S o) o °
(@)
g*f*%**f&n’fgé e ,7,,@,7,7,7,77@, <
I Bl
— &
@ == %
& i B e - *7****}
| B I - | <ﬂ
RV L2 AD L3
AB BC| L1 L4 L6+{T#2
L5+{T#2
RS TG RT
e $/
—E | | &
© e
B < RC
Py 7 RC5R AA|AB|AC|/AD|AL|BA|BB|BC| C |L1|L2 | L3|L4 | L5|/L6| L7|RA|RB|RC
32 97 |49 | 50|24 {4393 45|12 12| 25|39 |76 (125(187| 25|94 (66| 11 | 6.5
40 115| 58 [57.5| 28 | 11 [112| 55 | 12 | 16 | 25 |44.5| 81 | 140|207 | 30 {105/ 6.6 | 11 | 6.5
50 137 | 70 |69.5| 34 [18.8|134| 65 | 15 | 20 | 25 |48.5| 79 [150|225| 35 [106| 9 |(14.5] 9
63 152 | 85 |84.5| 34 [15.3|149| 80 | 15| 20 | 25 | 48 | 111 (182|242 | 20 (121| 9 | 15| 9
e #| Rs RT | RV|SW1SW2 TC | TE [TG|TH
32 M6x1.0 |M6x1.0 | 12 | 15| 17 | 78 | 61 |32.5| 74
40 M6x1.0 |[M6x1.0 | 14 | 15| 19 | 84 | 69 | 38 | 87
50 M8x1.25|M8x1.25| 16 | 22 | 24 | 100| 85 |46.5| 104
63 M8x1.25|M8x1.25| 16 | 22 | 24 | 105|100|56.5| 119




JFC GCEIERET

o HREL(JI), HEHMEERK TR,
BB E SR E AR

o RE{TIRKIEBISRE(JI)

o THIELTRAME , FHEHE

o MLAmEE, AEBHZEN , ENHEES

MiE RLERR | EHIA

NINET v

<

ZyeN L T8 VLYY

REL4F 1%

RELANTE (mm) 20. 25. 32. 40. 50. 63

FRmEE BEEMET R (FHEH/1SO-VG32)
T EE 51 (kgf/cm?) | 0.5~9

TAERE (O 0~+60

EEIRE (mm/s) 50 ~750

Bikg(2AFT)

NTE | s | B %E T EE A (Kgficm® )
(mm) | (mm) | 73[9 (cm;E; 3 4 5 6 7 8
HE 3.1 9 13 16 19 22 25
20 8
Eiv2 2.6 8 10 13 16 18 21
HE 5 15 20 25 29 34 39
25 10
a2 4 12 16 20 25 29 33
HE 8 24 32 40 48 56 64
32 12
Eiva 6.9 | 21 28 35 42 49 56
# [12.6| 37 50 62 75 87 | 100
40 16
Br | 10.5] 31 42 52 63 73 84
# [19.6| 59 78 98 | 118 | 137 | 157
50 20
1 | 16.5| 50 66 82 99 | 116 | 132
HE | 31.1| 93 | 124 | 156 | 187 | 218 | 249
63 20
Eina 28 84 | 112 | 140 | 168 | 196 | 224

279



= GCEERIL

7o 36 1 1 2 B 4 2 7

%
&

[N

NZ
E 4 EHzE | 2 | % EH2E HE | LKk EH2E HE
0) B0 1 @ BE 1 (13 uie 2
@ BEHE 1 Bl % 2 1 4 B 4R 1
® kS 1 © BEH R 1 (15 iR s 2
@) CEINIE 2 40 EEHE 1 3 (7] 58 42 44 1
® i EOR IR 2 @) BEE 1 a7 BEBKE 2
® 4188 1 a2 ®E 1

280



JFC GCEIERET

Pk on A2 AT IE

T2
o “| 5 | 10| 15| 20 | 25 | 30 | 40 | 50 | 60 | 70 | 75 | 100 | 125 | 150
20 [} [} [ ) [} [} [} [ ) [} [} [} [ ) [} — —
25 o o o @ o [ ) o @ @ o o @ — —
32 [ ) [ ] [ ) [} [} [ ] o [} [} [ ] [ ) [} o (]
40 [ ) [ ) [ ] [ ) o [ ) [ ] @ [ ) [ ) (] o [ ] (]
50 [ ] [ ] [ J @ o o [ ] @ o [ ) o @ o (]
63 [ } ( ] [ ) [ ) [ } ( ] o [ ) [ } ( ] o [ ) [ ) [ )
= —
DATEEEN
JIGC 32 50ST [ Txn
\ \ \ \
& P 12 EUERAR
il | | |
ii;ﬁj 20:20mm - #18  JFS02/JF S04
;:FI
&= 25:25mm 2 T:2f g AE
& : 5 BRI
i 32:32mm 124 GE:% )
2 40:40mm = P:PNP,31& 4 45,
a 50:50mm % 1= 48 B2k
Ll 63:63mm 2 N:NPN, 3% i 48,
EEER2K
n:¥E
b STt i )
R A

PREL1E:050 ~ 963

281



JFC GCERRIL

@ FI1%: 920~263

P3 P3

P4

e g
0
2-EE
4-J Y N1 N1
ﬁT———T N 1———'
” T B 2 542 8 TTT TTT
{L @ S Ll
@4 H——
071 N2l
ou G C+7#8
s
F A+1TH2
TR
N AlC|D|G|F|I J V/M|N1| EE (R |S |T1|U|X|Y | P3| P4
20 | 35295/ 36 15| 8 |6.5|M6x1.0 | 8 | 4 | 7 | M5x0.8 | 2 | 34 | 24 | 33 [12.3] 10 [10.5] 3.5
25 372/ 31|42 |25| 8 |65|M6x1.0 |10 | 6 | 8 | M5x0.8 | 2 | 40 | 28 | 39 |12.3| 10 |14.5/ 5.5
32 415|345/ 50| 3 |10 [65[M6x1.0 [12] 6 | 9 [ RC1/8 | 6 |44 | 34|43 |23 16 [145/55
40 44 | 36 |58.5| 3 |12 | 9 |M8x1.25| 16 | 8 | 95| RC1/8 [6.5| 52 | 40 | 51 |23.5| 16 [19.5| 7.5
50 |47.6| 38 |70.5| 4 | 14| 9 |M8x1.25|/ 20 | 10 | 10 | RC1/4 | 85| 62 | 48 | 61 | 31 | 20 |20.5| 8.5
63 |51.5| 42 |845| 4 | 14| 9 [M8x1.25/ 20 |10 | 11 | RC1/4 | 95| 75| 60 | 74 | 31 | 20 |20.5| 8.5

FOEE P1

20 24.3i@ 7L, 631 EE (Z @) M5x0.8 (Z )
25 25.2i@ 7L, @83 EE (= H) M6x1.0 (= )
32 25.2]8FL, 85 (Z ®) M6x1.0= )

40 26.858FL, 10558 (Z H) M8x1.25 (Z ™)
50 26.8i@FL, o113 % (Z M) M8x1.25 (Z ™)
63 26.818 7L, 11T B (= E)M8x1.25 (Z )

282



